The UK’s evolving physical landscape END OF TOPIC EXAM    Mark ______/31    Grade _____     Name ____________
PM:

PF:

T:

[bookmark: _GoBack][image: ]
1 (a) Study Figure 1.
 (i) Identify area X.                                                                                                                                                                    (1)
A An upland area of Scotland
B A lowland area of Wales
C An upland area of Wales
D A lowland area of Scotland
(ii) Which of the following best describes the river located at Y?                                                                                  (1)
A Its source is in central England and it flows into the Thames Estuary
B Its source is in Wales and it flows into the Bristol Channel
C Its source is in Scotland and it flows into the Firth of Forth
D Its source is in the Pennines and it flows into the English Channel
(b) Explain one way in which glaciation has affected the physical landscape of the UK.                                                   (2)
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(a) (i) Identify the region with the highest percentage of coast that is eroding.                                                           (1)
A East Midlands
B South East
C North West
D Yorkshire and Humberside
(ii) Give one way the data presentation in Figure 2 could be adapted to make it more obvious which region has the highest percentage of coast that is defended.                                                                                                                      (1)
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(b) Groynes are a type of coastal defence.  Explain why groynes can reduce coastal erosion.                                         (2)
............................................................................................................................................................................................
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(c) Explain why differences in rock type affect the rate of erosion on UK coastlines.                                                        (4)
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(a) (i) Which of the following is the best description of the River Avon?                                                                               (1)
A A fast−flowing mountain stream
B A lowland river with waterfalls and interlocking spurs
C A river flowing through a steep−sided valley
D A lowland river with a wide floodplain
(ii) Feature X is a meander.  Explain how a meander is formed.                                                                                             (4)
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(b) Explain one reason why the antecedent conditions in a drainage basin can affect the peak discharge of a river’s hydrograph.                                                                                                                                                                                      (2)
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In this question, 4 of the marks awarded will be for your spelling, punctuation and grammar and your use of specialist terminology.
Assess the physical and human factors, which affect the pattern of UK properties at risk from flooding.                   (12)
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Some questions must be answered with a cross in a box X. If you change your mind about an
answer, put a line through the box 5 and then mark your new answer with a cross .

V3UY SIHLNI JLIMM|

YIUY SIHL NI ZLMA 10N 00

Figure 1
Relief map of the British Isles.

1 (a) StudyFigure 1.

() Identify area X.
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Coastal change and conflict

2 Study Figure 2 which shows the percentage of coast that is eroding and the
percentage that is defended.

Percentage (%) of coast Percentage (%) of coast
that is eroding that is defended

North West 19 50

Region

Yorkshire and Humberside 56 43

East Midlands 9 99
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East Anglia 30 69
South East 31 54

Figure 2
(@) () Identify the region with the highest percentage of coast that is eroding.
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River Processes and Pressures

3 Study Figure 3 which is a 1:50000 scale Ordnance Survey extract showing part of the
River Avon in Worcestershire.

V3V SIHL NI ILIEM 1ON O

(Source: Extract produced by Ordnance Survey 2015.
© Crown copyright 2012. Allrights reserved)

Figure 3

(a) (i) Which of the following is the best description of the River Avon?
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O A Afast-flowing mountain stream
O B Alowland river with waterfalls and interlocking spurs

O € Ariver flowing through a steep-sided valley
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Investigating a UK Geographic

Spelling, punctuation, grammar and use of spec
will be assessed in this question.

4 Analyse Figure 4 which shows the impact of a 2 metre sea level rise on UK coastal
areas and numbers of properties at risk from flooding.
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